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QUESTION 1

You are asked to design a security solution for your client\\'s new two-tier data center. The client has a need for some
flows to bypass firewall inspection entirely.

Where should the firewall be deployed in this data center?

A. inline, between the core switches and the access switches
B. inline, between the core switches and the edge routers

C. one-arm configuration, connected to the core switches

D. one-arm configuration, connected to each access switch
Correct Answer: C

Reference: https://www.juniper.net/us/en/local/pdf/implementation-guides/8010046-en.pdf

QUESTION 2

You are required to design a university network to meet the conditions shown below.
Users connected to the university network should be able to access the Internet and the research
department lab network.

The research department lab network should not be able to reach the Internet.
Which three actions satisfy the design requirements? (Choose three.)

A. Use a global permit policy for Internet traffic

B. Use a global deny security policy for the research lab

C. Use separate security zones for each department

D. Use the default deny security policy for the research lab

E. Use a static NAT rule between the internal zones for the research lab

Correct Answer: ACD

QUESTION 3

You are designing a network management solution that provides automation for Junos devices. Your customer wants to
know which solutions would require additional software to be deployed to existing Junos devices.

Which two solutions satisfy this scenario? (Choose two.)

A. SaltStack
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B. Ansible
C. Puppet
D. Chef

Correct Answer: AD

QUESTION 4

Which solution provides a certificate based on user identity for network access?
A. network access control

B. user firewall

C. IP filtering

D. MAC filtering

Correct Answer: A

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/security-user-authcontrol-network-
access.html

QUESTION 5

You are designing a corporate WAN using SRX Series devices as a combined firewall and router at each site.
Regarding packet-mode and flow-mode operations in this scenario, which statement is true?

A. Packet-mode on SRX Series devices is required for deep packet inspection

B. Packet-mode is only supported on high-end SRX Series devices

C. An SRX Series device in flow-mode cannot forward packet-mode traffic

D. Flow-mode on SRX Series devices is required for security services

Correct Answer: D

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/security-srx-devicesprocessing-
overview.xml.html

QUESTION 6

You are designing a data center interconnect between two sites across a service provider Layer 2 leased line. The sites
require Layer 2 connectivity between hosts, and the connection must be secure.

In this scenario, what will accomplish this task?
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A. IRB VLAN routing
B. MACsec encryption
C. EVPN over IPsec
D. IPsec encryption
Correct Answer: B
Reference:

https://www.juniper.net/documentation/en_US/junos/topics/concept/macsec.html

QUESTION 7

You are concerned about users downloading malicious attachments at work while using encrypted Web mail. You want
to block these malicious files using your SRX Series device.

In this scenario, which two features should you use? (Choose two.)
A. SSL reverse proxy

B. SSL forward proxy

C. Sky ATP SMTP scanning

D. Sky ATP HTTP scanning

Correct Answer: BC

QUESTION 8

You are designing a data center security solution for a customer. The customer asks that you provide a DDoS solution.
Several IPsec tunnels will be terminated at the data center gateway.

Which type of security is your customer asking you to implement?
A. segmentation

B. intra-data center policy enforcement

C. perimeter protection

D. compliance

Correct Answer: C

QUESTION 9

You are implementing Routing Engine protection, and packets are processed in a specific order. In this scenario, which
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function processed a received packet last?
A. loopback interface input policer

B. loopback interface input firewall filter

C. physical interface input firewall filters

D. physical interface input policer

Correct Answer: D

Reference: https://www.juniper.net/documentation/partners/ibm/junos11.4-oemlitedocs/config-guidefirewall-policer.pdf

QUESTION 10

Which two features are used to stop IP spoofing in and out of your network? (Choose two.)
A. GeolP

B. firewall filters

C. unicast reverse path forwarding

D. IPS

Correct Answer: CD

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/security-attackerevasion-
technique.html

QUESTION 11

You are deploying Security Director with the logging and reporting functionality for VMs that use SSDs. You expect to
have approximately 20,000 events per second of logging in your network.

In this scenario, what is the minimum number of log receiver devices that you should use?
A 4

B.3

C.2

D.1

Correct Answer: D

Reference: https://www.juniper.net/documentation/en_US/junos- spacel7.1/topics/task/multi-task/junosspace-sd-log-
collector-installing.html
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QUESTION 12

Policy Enforcer provides which benefit?

A. log management

B. command and control protection

C. centralized management of security devices
D. IPsec encryption

Correct Answer: C

QUESTION 13

What is the maximum number of SRX Series devices in a chassis cluster?
A2

B.3

C. 4

D.5

Correct Answer: A

Reference: https://www.oreilly.com/library/view/juniper-srx-series/9781449339029/ch07.html

QUESTION 14

Your customer needs help designing a single solution to protect their combination of various Junos network devices
from unauthorized management access.

Which Junos OS feature will provide this protection?

A. Use a firewall filter applied to the fxpO interface

B. Use a security policy with the destination of the junos-host zone
C. Use the management zone host-inbound-traffic feature

D. Use a firewall filter applied to the 00 interface

Correct Answer: A

Reference: https://www.juniper.net/documentation/en_US/junos/topics/concept/junos-software-routersecurity-supported-
features.html

QUESTION 15
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You are creating a security design proposal for an enterprise customer. As part of the design, you are implementing
802.1x authentication on your EX Series devices.

In this scenario, which two statements are correct? (Choose two.)

A. The supplicant is the device that prevents the authenticator\\'s access until it is authenticated
B. The supplicant is the device that is being authenticated

C. The authenticator is the device that is being authenticated

D. The authenticator is the device that prevents the supplicant\\'s access until it is authenticated
Correct Answer: BD

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/802-1x-authenticationswitching-
devices.html

JNO0-1332 PDF Dumps JNO0-1332 Study Guide JNO0-1332 Braindumps

JNO-1332 PDF Dumps | JNO-1332 Study Guide | IN0-1332 Braindumps 717


https://www.passapply.com/jn0-1332.html
https://www.passapply.com/jn0-1332.html
https://www.passapply.com/jn0-1332.html
http://www.tcpdf.org
https://www.passapply.com/jn0-1332.html
https://www.passapply.com/jn0-1332.html
https://www.passapply.com/jn0-1332.html

